2307/26




/€1

n S

5%
(52
2

MIZGE] | ﬁ

MAM

9
2
G\
<
=)
Z
MOz kg
\\ 7
90z
P
EFAQ0
\%V
8/780 5
7
51l P
0 km 0+251 —C\
X : 0 projektowany zjazd inydwi ualny
2
e
%
s/ g—
e =
811802 . .
1)

G/eL0e

mam.g

9/8/8¢

Mmozeg

8/6.0C AU

P
=

9/11







50.14

52.07







7 HE A
- | Y AT
2 11 Y
W‘ wozosch m - o
MW_AI_‘ mmmu m S
== 15 g A >
~ &1 - e

¥y nyons eriobaje / 15
o :1I60Jp esep | @
yunt-oL=Wh E
_L\E¥°®"Q> B Mr, 117602 \
(61Ma "wis)) emoJasedg ‘I e
o | ,,H ».wm. €166 | Zazg sm\w%mmww
1Y % |
1 -
3 [
§ L m -
E 711 HKP=PEK = 0+022.53
oy ] : s A=60.00 R=170.00
M Pocz
Bk g g | d
a i = 0
AL e | ul. Spacerowa (Ist
/ﬂJ( i PP = 0+001.35
vorzeqy, \Nensy 1) ([ 29-60.00




geowania

99 +300




Droga

Selvele

\smNmm&

SRR AR AARALI A LUK Al

N\

RARANAANNNNNNNNNRNG AN

7]
2
3o

3

ﬁ,u.......unulllllﬂ‘““““ ‘
06

13.15

|




MOZGY

“ategUI 1A 1 &AWEET |

28.05

0€/v8le

41479

17.33

WLEK

8¢/vele

2
O
o~

6C/pel
om

6

|

KLK-PK
R=250.

Moz .04

MOZQOU~

Ji4y! rﬁ

18'9¢

MazgQ

1



pyuo(iw
0GZ+0 W

2137/5

|14+9 = id

988

R

S
nAnnAAnNAnAAnAnnan
T2
T ] ||nnllIﬂﬂﬂﬂ“ﬂﬂﬂ“@ﬂ“ﬂﬂﬂﬂﬁﬁl‘mnnn‘
: nnnnnnnnnnllnnﬁnlllmnnn
(0]
By
-
2
O
:
5 g
EA =
2B 7

2097/2

06¢+0 W

=%
[
=}
N
(=%
o
=)
~
=
=]
3.
=
a

mnnnnt

65,30
dna={164,9

=831/s




0| =

n|=

o |2

(@)

=30l

2|2

2|5
25.09

219119

=X
(=}
=3
S
34

“““—___—'W

98/7

2

IIlIllIIllllllllIl
ANNNANANR

00°00¢=CY
cL1et9

-

T T
H"\'“‘H“\"

s
O

p—

|

2098/8



2

I617 :

ARARARARARARARARAR [T llllﬂl!l_l!l_ll_ll_ll_ll_ll_ll_ll_n_n_.;.‘

SnnnnnnnnnnnnnRAnnnne llllllllllllllllllllllIIlIIllllllIllIlllllnllllllllnllllllllllllllllllllll||||

[HEEEENEN

- =

l .

% \,Il\l!\ T ii

T ‘L)' T T T T T T T T [T el

W“.‘.‘\“.‘“:“!"MQ O DO D LGOI ""n"!!l
T T
L LTI |

96'162+9 = dd—AT |

Shg2ze

P bubmopyelosd
NSa1ypz dajuoy



